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The largest of the two numbers 1s..
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A shopkeeper purchased a TV whose
marked price is Rs.16,000 from a
dealer at two discounts successive of
20% and then 10%. The shopkeeper
spent Rs.480 for transportation of TV.
If he sold the TV for Rs.15000, his
gain percentage is:

1) 30 2) 25

3) 20 4)15

Jdreedo: 2
FES:

16000x 22« 20 11520
100 100

QI = 11520 + 480 (Saree pE)en)
= 12000
C.P. = 12000 (&"3)
S.P. = 15000 (2330)
epgfo = &e.3000
3000
eI BE K0 =wx100
=25%
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A shopkeeper purchased a chair
marked at Rs.750 at two successive
discounts of 20% and 10%
respectively. If he spent Rs.60 on
transportation and sold the chair for

Rs.700, then his gain percentage is:
1) 25 2)15 1/3
3)20 4) 16 2/8

JSrgrdo: 4
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If a person sold his watch for Rs.24
with a profitpercentage numerically
equal to its cost price, then the cost

price of the watch is Rs.
1)26 2)18
3)20 4)22

Jdrprdo: 3
S

FHRe = 820
@&b&é [ = 8». 24

ergio = 8.4
&Sz —ixloo
. ePIB°B0 =50

=20%
- R0 ergfzrerds ddrdo
sméé J&orgrdo 3 KoK
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A person sold an article for Rs.144,

thereby gaining a profit percent equal
to the cost price. Then the cost price

of that article (in Rs.) is:
1) 8. 64 2) 8».75
3) 8».80 4) 8».90

D53 Hbge

'6\5’3 _550

JSredo: 3

PES:
EHIe = & 80 (Say)
O Jo = Er. 144
ergio = 144 - 80 = 64

8
=80
- R0 ergizrardd ddrdo
s%aéé J&rrdo 3 KB

64
ergFBE0 = 7 X lOﬁf

5. 3 Soggen 1:2:3 ARS® asTmow. B
H.C.F. 12 ©on@ o

Three numbers are in the ratio 1:2:3
and thelr H.C.F. is 12. The numbers

are:

1)4,8,12 2)5,10,15
3)10,20,30 4) 12,24,36
Jdredo: 4
JBD:

3 Qoggen X, 2, 3x ©50%08..
& K.r.g° = 12 (Gzrodo)

=
- E()ospego; 12,24,36
6. 3:4 K)Kg@;é’s é?é& 3o éogpé@ H.C.F
4. &>& L.CM.
The ratio of two numbers is 3:4 and
their H.C.F is 4. Their L.C.M is
1)12 2)16 3)24 4)48
HJdrepedo: 4
FHE:
& Soggen 3X, 4X @08
T8 K. g ‘X ©9)Hod,
B ‘12X e9)@&od
|xi=4
s B = 12X = 12%4=48

BotdH DoggeL.C.M 48. Doggo D8
2:3. dogge Ingo?

The L.C.M of two numbers 48. The
numbers are in the ratio 2:3. The sum
of numbers is
1)28

3)40

2)32
4)64

Jdredo: 3
FBL:

& doggen 2X, 3x ©30%08

E.J.H = 6X

B35 = X

Bzrodo (Hsebo E.r.tH = 48

= 6x=48

=>x=8

. & Joggen 2x8,3x8
=16,24

-3wdo = 16 + 24 = 40

3 Bogge Ay 3:4:5 & L.C.M.2400
& H.C.F.

Three numbers are in the ratio 3:4:5
and their L.C.M. is 2400. Their H.C.F
1)40 2)80

3)120 4)200

[dreedo: 1
FES:

& doggen 3X, 4x, 5x ©K0% 08
E.r.1H = 60x

B.P.g° = X

Sgrodo (Hsedo B.J.H = 2400

= 60x = 2400

=

S8 = 40

3o Hogge H.C.F. 21, L.CM 84 &
Sogge AP 1:4 oowd TBS® D
Sogyg?

The H.C.F and L.C.M of two numbers

are 21 and 84 respectively. If the rail
of the two numbers is 1:4. Then the

largest of the two numbers is
112 2)48
3)84 4)108

Jdrgedo: 3
S

10.

BotdH Hoggen X, 4x @0 0E.
BP0 = 4x
B.d.g° = X
Serodo (Hsebo .. = 84

4x =84

=
G Dowg=4x =4x21=84
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The present ages of Vishal and Shekhar
are in the ratio of 14 : 17 respectively.
Six years from now, their ages will be
in the ratio of 17 : 20 respectively.
What is Shekhar's present age?

1) 28 years 2) 17 years
3) 51 years 4) 34 yvears
Jdrprdo: 4
oSS
\Y% S
BRdo - 14y 17x

11.

6 Do STE — 17x,20x

Seeodo (BP0

l4x+6 17

17x+6 20

= 280x +120=289x +102

=9x =18

Nrey

-, B8 (B Hchy

=17x

=17x2

= 34 Jon

B%8 Ko (B Schine JHY
5:7.16 Jone 880 70 PG 3 : 5
©and 78 (HE ScHen dod?
The ratio between the ages of two

persons is 5: 7. 16 years ago the ratio
between their ages was 3:5. What are
their present ages ?

1) 30 years and 44 years

2) 35 years and 52 years

3) 40 years and 56 years

4) 45 years and 60 years

Jdrgrdo: 3
S

A B
Bago — 5x,  7x
16 2og (8%o— 3x,5x
Sgrodo (Hsedo
5x-16 _3
7x-16 5
= 25x-80=12x-48
=4x =32
Nrer)

- (%8 Sabrye = 40, 56




